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What is the number of regional offices of National council for Teacher Education?

(A) 4

B) 5

c 6

(D) 8
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In inter-personal relationships among children are to be restored, the teacher must-
(A) Leave them free to play

(B)  Keep their economic status in mind

(C)  Give ample opportunity to debate

(D)  Study their socio-emotional development and motivate them towards inter-
personal relations.
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Who among the following thinkers accepted education as process of human creation?
(A) Mahatma Gandhi

(B) Tagore
(C)  Aurobindo
(D}  Vivekanand
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The development of human behavior depends on-
(A)  the family

(B)  the environment

(C)  the family and environment

(D)  None of the above
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Which of the following recommendation was not given by the Kothari Commission?
(A)  Allchildren should be given primary education in their mother language.

(B)  The first board examination should be done only after completing 10 Years of
school examination.

(C)  Subject division should start from class 10 instead of class 9

(D) 50% of secondary schools should be converted into vocational schools.
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Which of the following does not affect the social development of a child.
(A)  Knowledge

(B Logic
(C)  language skills
(D)  None of the above.
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Which of the following is not one of the intrinsic factors affecting child development,

(A) Wisdom

{B)  Hereditary factor

(C)  Physical Environment
(D)  Physical factor
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The potential behavior of the despised child in the classroom will be-
(A) Disintrested

(B)  Enthusiastic

(C)  Full of anger
(D)  negative
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‘Epistemology’ means-
(A)  Study of the human nature

(B) Study of the nature of values
(C)  Study of the nature of knowledge
(D)  Study of the child development

"HEAT B SR

(@) TieFgE wEIgHy &, SR T

(@) sftrper wg=i @ forg Fat-art s@a ge gRed B
(1) WET Bl Fav-ar s 8 e BT B

(1) sHABE T8

According to the “Mahayana’

(A) Gautam Budha is a great man, not good,

(B)  Itisdifficult for most humans to find the ‘Nirvana Marg’ alone.
(C)  Every one has to find the ‘Nirvana Marg’ alone

(D)  None of these.
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The process of socilazation of the child begins-
(A) atbirth

(B)  from childhood

(C)  from adolescence
(D)  from maturity
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Social development theory-
(AY William James

(B)  Maria Montessori
(C)  Vygotsky
(D)  Johon Dewey

Classroom teaching should be
(A)  child-centered

(B)  textbook-centered
(C)  teacher-centered
(D)  homework-centered
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NCF-2005 stands for-
(A) NATO composite force-2005

(B)  Network configuration file-2005
(C)  National curriculum framework-2005
(D)  National cultural foundation-2005
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Which of the following is not in the guiding principles of the National curriculum frame
work-20057

(A)  Connecting knowledge to life outside the school.
(B)  Ensuring that learning is shifted away from rote methods.

(C)  Making examinations more flexible and integrated into classroom life.
(D)  None of these.
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When the words of another language are used in the sentence of one language, it is
called-

(A)  Code mixing
(B)  Word mixing
(C)  Displacement
(D)  Duality
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“Cooking is not a man’s job.” This statements-
(A) istrue

(B)  reflects social discrimination

(C)  demonstrates gender bias

(D)  Largely true
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Which of these is not a method of knowing individual difference?
(A)  Test method

(B)  Achievement
(©)  Intelligence Test
(D) None of these
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Which method of communication is best for controlling noise in the classroom?
(A) shout out loud.

(B)  Poke fear.
(C)  continuing teaching amidst the din.
(D)  keep calm and look at students.
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Difficult sentences and negative expression make communication-
(A) effective

(B)  ineffective
(C)  normal
(D)  difficult
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Which statement is untrue in the context of silent reading?
(A)  Reading without utterance in the mind is called silent reading.

(B)  This is the final stage of learning reading skili.
(C)  Whispering is silent reading.
(D)  Silent reading is considered superior in public places.
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The father of creativity
(A} E. Paul Torrance

(B)  Francis Bacon
(Cy B.F. Skinner
(D)  Robert Rex
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Which of the following commission first recommended decentralization of primary
education?

(A) Kothari commission

(B)  Hunter commission

(C)  Pr. Yashpal commiitee

(D) Dr. 8. Radhakrishnan commission
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Which of the following is described as Magna-Carta of Indian Education?
(A)  Hunter commission

(B)  Sargent commission
(C)  Wood’s commission
(D)  None of these
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Which philosophy developed the monitorial system in classrooms?
(A) Buddhism

(B) Jainism
(C)  Vedic
(D)  None of these
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(w) 25%

(@) 5%

(71) 2.5%

(")  1.25%

5% of 25 is equal to what percentage of 57
(A 25%

B %

C) 2.5%

D)y 1.25%
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A number when multiplied by 5 is increased by 80, find the number?
(A)y 15

|®) 20
(C) 25
D) 30

Af& 0.3x+0.4=0.28 x+1.16 T AV x BT T T M ?

(&) 38
(@) 19
(71) 57
(@) 33
If 0.3x+0.4=0.28 x+1.16, what will be the value of x?
(A) 38
(B) 19
(C) 57
(D) 33
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Rahul’s father’s age is three times Rahul’s age. After 12 Years, Rahul’s father’s age
will be double to Rahul’s age. What is the percentage age of father and son?
(A) 36 Years and 12 Years

(B) 12 Years and 36 Years
(C) 39 Yearsand 13 Years
(D) 13 Years and 39 Years
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The length of a rectangle is three times its width. It tis perimeter is 96 meters, what will
be the length of the rectangle?

(A) 12 meters
B) 24 meters
(C) 36 meters
(D} 48 meters
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If by increasing a number by 10%, the increased number is reduced again by 10% then
by what percentage will the original number decrease or increase?
(A) original number will remain undone.

(B)  will decrease by 2%
(C)  will decrease by 1%
(D)  will increase by 1%
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Each positive rational number is greater than

(A) zero

(B one

(C) two

(D)  none of these
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What will be reciprocal of a while a#0

(A) 1

(B) 0
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If x+3=5, then the value of X'+ iz will be-
x X

(A) 23

(B) 25

) 27

(D}  none of these
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If the ratio of two angles a triangle is 4:5 and the sum of these angles is equal to the
third angle, then the three angles of the triangle will be-

(A)  30°% 60° 90°
(B)  40° 50° 90°
(©  90° 60°, 30°
(D)  none of these
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(®) 177,78, 79
(@) 72,80, 82
(7) 176,78, 80
(&) 75,77,79

If the sum of three consecutive even numbers is 234, then the numbers will be-
(A) 77,78,79

(B) 72,80, 82
(C) 76,78, 80
D) 75,77.79
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A school has 5/8 boys. If the number of girls in the school is 240, what will be the
number of boys?-

(A) 540
(B) 500
() 450
(D) 400
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(&) 53

(@) 73

() 63

(") 36

The unit digit of a two digit number is 3 and the sum of the digits is 1/7 of the number,
what will be the number?

(A) 53
®) 73
© 63
(D) 36
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Which of the minimum number should be reduced from 2509 to make it a perfect
square?

(A) 9
(B) 909
(©) 108

(D)  none of these
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(b)) 77

(™) 86

(77) 68

(g) 59

There is a number of two digits whose sum is 14. If 36 is added to this number then the
digits of the number are interchanged, what is the number?

(A) 77
(B) 86
(C) 68
(D) 59
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Understand the relation between the numbers on the left and find the missing number
on the right-

9:8:::16:7?

(A) 18

By 14

< 27

(D) . None of'these
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Find the missing number.

an
i

(@) 343
(@) 512
(1) 729
(x1) 1000

43. S W WRHY @l B YR B
1, 13, 17, 25, 41,......
() 7
(@) 61
(71y 73
(a) ™

Complete the series by filling the appropriate number.,
11, §3, 17,25, 41,.......

A 71
(B) 61
) 73
oy 77
44. B DI

i 5+3+2=151022
9+2+4=183652
AV 742+5= 9
(W) 351474
(@) 473514
(1) 143574

(o) 143547

Solve.

If 5+342=151022
9+2-+4=183652
then 74+24-5=9

(A) 351474
(B) 473514
(C) 143574
(D) 143547
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‘347 1s related to “12” in the same way as “59° is related to

(A 47
By 14
Cy 95
Dy 45
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22323423452345623456

(®) 5

(@) 6

(M 7
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What should come next in the following number sequence?

22323423452345623456

(A) 5

B 6

© 7

Oy 8
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() 19

(|) 23

(1) 27

(a) 17

Three of the following four are like in a certain way and therefore form a group. Which
is the fourth which does not belong to the group?

(A) 19
(B) 23
© 27
Dy 17

b
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Mohan said, “Ram’s father is the only brother of my sister’s son.” How is Ram’s father
telated to Mohan?

(A) Cousin
(B)  Nephew
() Uncle

(D)  None of these
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(®) 5216

(|@) 3126

() 3216

(') 9216

‘ROAM” is written as 5913 and ‘DONE’ as 4962 in a certain code, ‘MEAN" will be
written in the same code as-

(A) 5216
(B) 3126
© 3216
(D) 9216
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(&) 15

(|) 16

(1) 17
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In a row of 30 boys, ‘R” is fourth from the right end and ‘W” is tenth from the left end.
How many boys are there between ‘R’ and ‘W*?

(A) 15
B) 16
© 17

(D)  Data inadequate.
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FTa+b+c=0, T TR ax2 +bx +¢=0 ?ﬁ‘j?l%

b c -b —c
(ﬂi)laﬁ‘\'; (@)mﬁ-\rz (j) 1 3R ” (1) 18R »
Ifa+ b + ¢ =0, then the roots of the equation ax? + bx + ¢ =0 are

b c —b —c
(a) land = (b) 1and " (c) land — (d) 1 and -
P UL B N 1 PR S —

2 2020
(25)22020 (b) 21010 (C) 22019 (d)2

1
If x? +— =2, then the value of x2020

is equal to
X 2020

(a) 22020 (b) 71010 (c) 22019 (d)2

fe—3neamd <ifsan (T ifeF) & fore awe sgag Ry TR v T &
a*b=a+b+ab,Va,beR~-{1},%

()1 (by -1 (c) e (d)yo

The identity element for the binary operation ‘** defined as
a*b=a+b+ab,Va,beR-{l}is

(a) 1 (b)-1 (c) e (d)0
2019 2019
TEIT X — = 2020~
g x—2020 x—2020 @ _
(&) e TP aRafas g ¥ (b) T IREIIE A B
(c) DI IR<IAD oA TE B (d) 3T areIfaes el &
The equation x — 2019 = 2020~ 2019 has
x—2020 x—2020
(a) only one real root (b) two real roots
(c) no real root (d) infinitely many real roots
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The number of times 20 can be subtracted from 2020 is
(a) 1 - (b) 101 (¢) 100 (d) 102

(/3 + 45 P20 o foeae 3 ufa el ot <

() 2021 (@) 505 () 506 (|a) 507

‘The number of rational terms in the expansion of (\/§ +45 )2020 is

(a) 2021 (b) 505 ) 506 (d) 507

“Rag aiiaRo o gomel 3ax +4by +5¢ =0 3R 12ax+16by +20c =0 B

(Flafgdagae (@) aEsa=diz (MAwat (&) sFid B &
The system of linear equations 3ax +4by + 5¢ =0 and 12ax +16by + 20c = 0 have
(2) unique solution (b) nosolution

(c) two solutions (d) infinitely many solutions

s i=/~1, 9 Jo; W R

| 1+i —-1-i

(@) i:/‘-; (&) 7 () o) (=) -1

If i =+/~1, then /—; is equal to

a) t— b bl il d) -1
@ *75 & T © 5 @
2020 |
[ [xdx, Sl [x] = wad 91 Qi < ¥, TR Y
2019
(®) o (@) 1 (31) 2019 (1) 2020
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2020
| [x]dx, where [x] is greatest integer < x is equal to
2019

@ 0 (b) 1 (c) 2019 d) 2020

M sinb +2sing +3siny +4sind =10, & sin? 0+ 4sin® ¢+ 9sin s + 16sin® § TR
(&) 10 (@) 30 (31) 100 (=) 20

If sin® + 2sin¢ + 3siny + 4sind =10, then Sin26+4sin2¢+9sin2w+165in28 is equal
to
(a 10 (b) 30 (c) 100 (d) 20

(F) o (@) 1 (71) 3 (%) arfriey 9§ o8

The number of possible equilateral triangles having vertices specified by rational
co-ordinates is
(a) 0 (b) 1 (¢) 3 (d) mfinitely many

A 1% 4 U 9 siregg forerent 3% 3 x 3 ¥ | KA o1 9% UM, K e R a¥ER Y

(F) K4 (@) K214 (1) K3 |4) (7) 3K |4

Let 4 be a square matrix of order 3 x 3, then the determinant value of K4 ie ]KA ,KeR
is equal to |

(a) Xl4| (b) K*|4] () K4 (d) 3K |4|

94 B &l B IRacr @1 Saa e » & ane 9w, we r = 4 5o ¥

(F) 27 (@) an (=1) 67 (|) 8n

The rate of change of area of a circle with respect to its radius » where 7 = 4 units is
(a) 2n (b) 4n (c) 6m (d) 8=
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11 11 1
NN NN 2z
(@) | L 1| (@ L 1| (@] 1 1
V22 V2 42 V2 W2

11
2 V2
()1 _ L
N2 2

Let T : R? — R? be the transformation that rotates each point of R? about origin through

an angle %:- then the standard matrix for 7'is

I 1 I 1 1 1 1 i
V2 2 V22 NG V2 2
(@ |1 1 ® (1 1 © |1t 1| @1 1
N2 A2 V22 V2 A2 22
ﬂ‘ﬁml()xl—3x2—2x3=0$3?7fﬂﬂﬁm%
(%) v e et g ¥ Toar gan (7) 7@ g & 81 TorA arent ot

(1) ga fa=g | orHaTel wvel Y@l | (a1) et fag | 18 [oRAarel kel ¥

The solution set of equation 10x) —3xy ~2x3 =0 is
(a) aplane passing through the origin

(b) aplane not passing through the origin

(c) astraight line passing through the origin

(d) astraight line not passing through the origin

A foran 76 4 T m x n segE ¥ w6 » @R s p 1, A
(®)r+p=n (@)r+p=m () r—p=n

Let A be an m x r matrix with rank » and nullity p. Then
(a) r+p=n (b) r+p=m (¢) r—p=n

9 1

(8)r~p=m

(d) r-p=m



67.  3ADHAT FUEHW xdx + ydy = xdy + ydx ® TAE
(Eﬁ)x2+y2:xy+c (=) xz—y2=xy+c

() x2+y2=2xy+c (=) 2(x2+y2)zxy+c

The solution of the differential equation xdx + ydy = xdy + ydx is
@ x*+y°=xy+c ®) -y =xptc

© x? +y2 =2xy+cC (d) Z(xz +y2): xy+c

68. <uid (40032 90_3)(40082 270_3) TTq AT fhan I o 9¥re” 2RI
(%) tan 9° (@) cot 9° (77) tan27° (E1) cot 27°

The expression when simplified (4 cos2 90_.3)(4 cos? 270_3) is reduced to
(a) tan9° (b) cot9° (¢c) tan27° (d) cot27°

69. FHEHT 1651“2x+16°052x =10,0<x <20 & BA Y G §
(®)2 (@) 4 (Me (1) 8

The number of solutions to the equati sin® x cos’x _ i
quation 16 +16 =10,0<x<2m 18

(a) 2 (b) 4 (c) 6 d 8

70.  x ' IRfa® 99 B fAv Sorm sin_l(xz—4x+6)+cos’"l(x2 —4x+6) 1 HIH GRI6R §

(m)g% (@)n g (Mo% (a)saRTa d a8 T

The value of sin™! (x2 —4x+ 6)+ cos™! (x2 —4x 4 6) for real values of x is

(a) is g (b) is7 (©)is 0 (d) does not exist
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aiorm tan i cosin~ .t s inlos ] o 1

X 2
® (@) ”;x

(1) x (|) 1

The value of tan{sin“1 (cos(sinf“I x))} tan{cos_l (sin(cos_l x))} is equal to

\/1~—x2
x

@) x @ 1

x
(a) 2 (b)
B[St 4BC 4wy Widad & Wi wied (a+b)cosC+{b+c)cos A+(c+a)cos B MR
H

(Eﬁ)% (@) s (1) 2s (&) 3s

With usual notations in a A4BC, the expression (@+b)cosC +(b+c)cos 4 + (c+a)cosB
is equal to

(2) % ®) s © 2s ) 3s

ATy Frgell foreel &1 ot ) = 3(x—1)+2 3R =By ¥, B dEn
(@) 0 (=) 1 (31) 2 (1) 3/ ©9 9 B

The number of equilateral triangles with y=A3 (x—1)+2 and y =—./3x as two of its
sides is
(a) 0 (b) 1 () 2 (d) Infinitely many

el 1%+ % ~4x—6y-12=0 3R 22+ 32 4 6x+18y+26=0 B IUAFTS el Y
B AT E

()1 (@) 2 (M3 (|1) 4

The number of common tangent(s) to the circles x2+y2—4x—6y—12=0 and

x* 4% +6x+18y+26=0 is
(a) 1 (b) 2 (c) 3 (d) 4

23



75.

76.

77.

78.

Tl ¥@1 B 1 (slope) W URgE! 32 = 4x 3R x? = ~32y B W) A1 E, ¥

1 1 2
5 (@) = (1) 3 (=) 3

(w) :

The slope of the straight line touching both parabolas 3* = 4x and x2 =32y is

1 3 1 2
@ 5 ®) 5 © 5 @ 5

T ITAT <1 <1 G Bebl S 1 FHA—A—FH U IR G 61 3 o wikiesan (wraen) &

() 3 (%)

=

(®)5 (=)

A die is rolled thrice. The probability of getting an even number atleast once is

1 1 1 7
(a) 3 (b) 1 (c) 3 (d T

m FATH® AR n FOMHAE g &R m + 1 > 1 T dfed 9 59 T6R @ o 15 &8 21
HUMHS Torg 12 81 1 U1 29 fhem a9 4 o) wad §7
(-q;)eran (E) n-i-iPm (TF) m+lcn (a) n+lc

M

The number of ways of arranging m positive and » negative signs where m+ 1>, in a
row so that no negative signs are together is

(a) m+1 Pn. (b) n+1 Pm (C) m+ lcn (d) n+ }Cm

7 feran T/ #g quiies we 3iR g Wiger wer &, | gOf[*%]“fog(—é—] &1 A
IR T

(@) o0 (&)1 () ~1 (=) 2

Let f'be the greatest integer function and g be the modulus function, then the value of

gof (—%)—fog(—%] is

(a) 0 (b) 1 ) -1 d 2

24



79.

80.

81.

82.

2
afy y=tan " x,, @ (lJr;cz)ii’-JergZ TR &
oh® dx
(®)0 (@)y (77) 2 (=) 2y
2
If y=tan"" x, then (1+x2)~§;~%—)+2x% is equal to
(a) 0 (b y (c) 2 (d) 2y
2020 \/—
X
dx YRR
{ Jx ++/2020 =5 A §
(®)2020 (@) 1010 (31) 4040 (=) 101
2020 \/;

dx is equal to

The value of _{
0 Nx ++/2020 — x

(a) 2020 (b) 1010 (c) 4040 (d) 101

aP | x[+|y|=1 g1 iR &3 #1 dowa &

(&)1 a3 3o (@) 2 ¢t 3ore (77) 4 a7 3B (1) 8 Tt gpIE
Area bounded by the curve | x|+| y[=1 is

(a) 1sq.unit (b) 2 sq. units (c) 4 sq. units (d) 8 sq. units

2 2
WW[QJ +(@~) +sin(gjf~)+1:0 &1 urd (fsi) &

dx2 X X

(@)1 (|) 2 () 3 (&) afvnfyg =8 &

d> y i dy 2 dy
The degree of differential equation | —=2- | + (——J + sin(—] +1=0is
dxz dx dx

(a) 1 by 2 (c) 3 (d) notdefined

25



83.

&3.

86.

af & T wRE R Y, W (@) (6.7) )+ (@h); wERE

(®)a (") 24 (1) 3a (a) o

If @ be a vector quantity, then (5,2’ )f + (a‘.})}‘+ (5_12)12 is equal to

(a) a (b) 24 (© 3a (d 0

In usual notation [a +b b+e &+a|is equal to

@ la 5 & ® 2@ 5 ¢  © 35 @o
i-b
Wﬁﬁ&aﬁ!gawm%weaﬁ%ﬁa$m%,ﬁa T A GRIET &
. 0 0 1. 1
() sinz (&) cos> (31) 531118 (=) Ecose

Let @ and / be two unit vectors and 0 is the angle between them, then the value of

a-b

5 | isequal to

. © 0 1. 1
(a) smé— (b) COSE (©) Esme (d) Ecose

TH Y@ x 3R y A& B I HHA: "_';‘E aﬂ?% DIV RN B T8 G 2318 D I BT I
¥

Y8 m 5t Y[
(%) 3 (@) 75 () D (=7



87.

88.

89.

. ] . .
A line makes angles 3 and g withx and y axes respectively. Then the angle that the line

makes with z-axis is

7 5
@ 3 ® - © 5 @2

fo=g 1 frramae W=l Y x;"z:yf:z;z WA x— y+z=5 B BEA Y, ¥

(®)(2.-1,2) (@) (2,1,2) (1) (2,1,-2) (a) (-1, 2,2)

x—=2 y+1 z-2
4 3

The coordinates of the point where the line intersects the plane

x—y+z =73 are given by
(a) (2-1,2) (® (2, 1,2) €) 2 1,-2) (d -1,2,2)

%@amasﬁa%wnﬁfmﬁufﬁawmiﬁaﬁﬁﬁqaﬁmﬁum(o,3),(1,1)aan
(3, o)%lwf&iz=px+qymﬁp,g>0%’1p3ﬁ?qﬁwwﬁmﬁzaﬂwﬂm
(3,0)3R(1, 1)WY

(®B)p=g¢ (@) p=2q (1) 2p=¢ (|a)3p=g¢

Corner points of the feasible region determined by the system of linear constrains are
(0,3), (1, 1) and (3, 0). Let z = px + gy where P, g > 0. The relation in p and q so that
minimum of z occurs at (3, 0) and (1, 1) is

(@ p=gq (b)p=2gq () 2p=g¢q (d) 3p=g¢

UE T ST A 1 3SR 3 x 3 ¥ 5N 3961 ARYIRIE 71 |4] =5%, T |4 adj (4) | &R ¥
()25 (@) 125 () 5 (") 625

A square matrix 4 of order 3 x 3 has |4| = 5, then |4 adj (4)] is equal to
(a) 25 (b) 125 (c) 5 (d) 625

0"



90.

91.

92.

93.

() x* - 4xy = 3= (@) x*+4xy = =@

(1) xp° + xy = 3 (a) x* - xp = s

. d 3.
The solution of differential equation xﬁi +y=x"is
(a) x*—4xy=constant (b) x* + 4xy = constant
3

(c) xy~ +xy=constant (d) xt - xy = constant

YUIihl & TT Z TR TR Wwrel R wiel xRy af x — y &1 2 SRR avan ¥, v ye 2

(@) vaqed Ty wafira 8 ¥ (@) i ue] whHE T8 8

() S g Wi T ¥ (%) T geadn Ty Bl

The relation R over the set Z of integers defined as xRy if 2 divides x —y, x,y e Z. is
(a) reflexive but not symmetric (b) symmetric but not transitive

(c) transitive but not symmetric (d) anequivalence relation

1 1L
afe ym+y m=2x, W (Jc:2~~1)yz+xyl R T

(@) m2y ("@)y (1) 2mPy (=) 2y

L 1
If ym+y m =2y then (x2 —1)y2 + X is equal to

(@) m? ® ¥ © 2mly (d) 2y

AT 6 f(x) 3R g(x) AT sgde Baq sva0d g<r<] @ To0 § wat

J(0)=2,g(0)=0, f(1)=6,g(1)=2 TNNTINBW f'(x) =2g"(x) B T Y A |
IR ¥

(F)(1,2) (@) (-1,0) (M) (0. 1) (=) (2, 6)

Let f(x) and g(x) be finitely differentiable functions for g<x<] such that
JS(©)=2,g(0)=0, f()=6,g(1)=2. Then there exists a root of the equation
f(x)=2¢'(x) lying in the interval

() (1,2) (b) (-1,0) @ O (d)(2,6)

29



94.

95.

96.

97.

(Exé’)x(@xa) TWIET

(®)|a 5 ¢e (®) [5 MPFezla @aiea

Q2
O}

| S )
Dy
O3

(5 X E)x (¢ x &) is equal to

@ |a 5zl ® [ a z i D 5 s

197}
9}

[
%]

© [z

e T}

A form & §(x, y,2) mﬁaﬁﬁaﬁrmwaﬁmm%,aﬁﬁﬁs¢w%
(®) o (|) ¢ (31) 24 (7)) § (¥ srferem)

Let ¢(x,y,z) be ascalar function of position in space, then curlgrad ¢ is equal to

(a) 0 (b) ¢ ©) 2é (d) § (zero vector)

3
B f(x,y) S ARAREE, £ (x,5) =2 =,x %0, 20 3N £(0,0)=0
x“+y :

(B)fg (0,0) Ruaa s

(@) g (0,0) Wargaa &

(1) (0, 0) TR sramfer ¥

(Fy ety = B feen ¥ (0,0 ) W e &

xy”

x2+y6

The function f(x, y) defined as f(x, )=

x#0,y#0and f(0,0)=0 is

(a) continuous at (0, 0)

(b) discontinuous at (0, 0)

(¢} differentiable at (0, 0)

(d)} continuous along the path y = x3 at (0, 0)

6 x2 —Tx+1=0 forg e o st A w1 sftrcreT—wiiaRer ¥, @ A @ g seE
ERCEES

(®)71-A (@) 71+A (M) A-7I (F)7TA+1

28



98.

99.

Let x> —7x+1=0 be the characteristic equation of the given square matrix A, then the
inverse of A is given by

(a) 71-A (b) 71+A ()A-TI (d) 7A +1
STFH /2,422, 2422 2222 .

(@ ) atfmey (@) e

(1) =1 4 SR SR A & SR () &=

The sequence x/i, m, 1/2@, \IZ\/QM, ....... is

(a) convergent (b) divergent
(c) neither convergent nor divergent (d) oscillatory
T Ter £ afiiie &
1 : xuRag g
f(x)=
-1 ; x3uRWg %
¥
() uRag fagali waaa & (@) 3y fogel w waa ¥
(M x=3F (x=0) W uaa ¥ ()N xc g D foW 3T &

A function fis defined as on R

1 . x is rational
fx)=

-1 ; xisirrational
is
(a) continuous at rational points (b) continuous at irrational points
(c) continuous at x =0 (d) discontinuous forevery x e R.

100. T 6 Aafas Wert £ @ Wikt ¥ (a, b) T fivg ¥ o781 £ (a, b) @ wfdider § aiikeea 3 ¥ aiR

fw(a, b) R Aaa &, 9@l
(7‘5) fxy(asb):fyx(asb) (E) fxy(a:b):_fyx(a:b)

() Say(@b) < fix(a.b) (&) fax(a.b)= [y, (a,b)



101.

102.

103.

104.

105.

Let (a, b) be a point of the domain of a rea] function f'such that /. exist in a certain
neighbourhood of (a, b) and J,, 1s continuous at (a, b). Then

(a) fxy(a=b)=fyx(a5b) (b) fxy(aab)z—fyx(asb)

(©) fiy(@.b) < fyx(a,8) (d) frx(@.b) = £y (a,b)

U5 AieTel Selrr e 4 ok w1 A warey &

(¥) 0.009 (W) o0.018 (W) 0.027 (") 0.036

The mole fraction of the solute in one molal aqueous solution is
(a) 0.009 (b) 0.018 (c) 0.027 (d) 0.036

9 argai A,BaanCa%wmaWﬁ@‘e’ﬁwmwo.ﬁ,—&ovaﬁ?mlzv%l‘sa
YTl B IAHIRD &I B A §

(¥)B>C>A (@) A>B>C (1) C>B>A (g) A>C>B

Standard reduction electrode potentials of three metals A, B, C are +0.5v, =3.0v and
~1.2v respectively. The reducing power of three metals are

(a)B>C>A (b) A>B>C (c)C>B>A ()A>C>B
% SohHU e Uy o) Ul &
() eI (&) T (1) HoTICHS (=1) fraa

Entropy of an adiabatic reversible process is
(a) positive (b) zero (c) negative (d) constant

TR yithan @ forg ewmIRed @1 v frr 3
(F)q=-w (@) AU=W (T) AU=qV ("9) AU=—qV

The first last of thermodynamics for istothermal process is
(a) g=-w (b)y AU=W () AU=qV (d) AU=—qV

Wi Hife o wfafhan @ 75% qof 89 § 60 foere e 21 39 vl &1 si—~oia @
¥

(®)30 fime (@) 50 fie (M) 60 e () d1E T8
A first order reaction takes 60 minutes to complete it 75%. The half life of this reaction is

(a) 30 min (b) 50 min (¢) 60 min (d) none

31



106. bee WG Y Hagel T &
(®)52.4% (@) 68% (1) 74% (1) @1 =i

The packing efficiency in a bee structure is
(a) 52.4% (b) 68% (c) 74% (d) none

107. swfcfavadfous
(®)faerffm C (@) faerfm D (n)ﬁmﬁﬁE () fefm K

Which of'the vitamins is water soluble ?
(a) Vitamin C (b} Vitamin D (c) Vitamin E (d) Vitamin K

108. FRfhet § DA—w1 arg SuRerd 72
(%) Mg (@) Fe (1) Zn (a) 370 < wf

Which metal is present in chlorophyll ?
(a) Mg (b) Fe (c)Zn (d) All of these

109. UrgGRiE @R 9569F &

(F)SeeRA () TRt (1) szt (a1) T

Natural Rubber is a polymer of

(a) Butadiene (b) Ethylene (c) Isoprene (d) Styrene
110. BT SR B

(&) foim (@) togfifrm (1) s (&) DR

Calamine is an ore of
(a) Zinc (b) Aluminium (c) Iron (d) Copper

111. 9= 3neel 319 (non-ideal gas) & forg awex ara wirewo o sia o1y (sRI—avys) aa
T Hearen ug ¥

(®)RT (@) V-b (1) [P'Jr'%) () (RT)_]



112,

113.

114.

115.

116.

The term that accounts for intermolecular force in Vander Wall's equation for non-ideal
£as is

(a) RT (b) V-b (c) (P+:%) (d) (RTY"
Ni (CO), ¥ favat o) siferyevor arawen §
(F)4 (@) o (1) 2 ()8

In Ni (CO),, the oxidation state of Ni is
(a) 4 (b)0 (c)2 (d) 8

1 KMnO, 1 a1t fireter 3 sifediforen srver g sraare fian st ¥, @ Min <) sifdiaeor
e uRafds g &
(F)+2 | +7 (@) +4 9 +7 (M) +79 +2 (a)+6 A+ 2

When KMnO, is reduced with oxalic acid in acidic solution, the oxidation number of Mn
changes from

(a) ¥2 to +7 (b) +4to+7 (c)+7 to +2 (d) +6 to +2
Tpeta o1 1% fareram &

(&) g (&) fa=iprae (n) wheRae (u) ufafEefim
1% solution of phenol is

(a) antiseptic (b) disinfectant (c) antimalarial (d) antihistamine
D BEF AYRE | FARA & w7

(@) T (=) uferew (1) wrdH (a) ¥BRa
Which artificial sweetner contains chlorine ?

(a) Sucralose (b) Alitame (c) Aspartame (d) Saccharin
7 4 1 B Sfeserse qon frem § Ride o ¥?

() wafei faerr (@) smifi

(71) wifeaw TIgHEwEe (|) 97 "ergR® v
Which one of the following can distinguish an aldehyde from a ketone?
(a) Fehling's Solution (b) Ammonia

(c) Sodium bisulphite (d) Dil sulphuric acid
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117.

118.

119,

120.

fraforRaa § 9 4 999 wifdeen aR §7

() @—NHZ () @—Cﬂzl\l}ig
(1) QNHz (=) @—NHCH3

CHy

Which of the following is the strongest base?

(@) @‘NHZ (b) @‘ CHNH,
(c) Q—NHz (d) @—NHCHS

CH,

1F avre” 3 ¥

(F)96500 cmol™ (&) 96800 cmol™  (31) 96600 ¢ mol!

1F is equal to

(a) 96500 cmol™  (b) 96800 cmol?!  (c) 96600 c mol~!

=1 | @ 151 ugwes T8l w11 W &7
(F)NO, (") CO, () SO,

Which of the following is not regarded as a pollutant?

(@ NO, (b) CO, () SO,
IS e srideaw &
(%) T4 (@) sfermiesr (1) gf&m

Ozone hole is maximum over
(a) Europe (b) Antartica (c) India

3%

(=) BIE T

(d) none

(g) CO

(d) CO

CIELC!

(d) Africa



122,

123.

124,

125.

126.

XeF, WRgH § Y&t YHGo B
(@) SP3d? (@) SP2d2 (71) SP3d (1) SP2

Hybridisation involved in the structure of XeF 418
(a) SP3g? (by SP>d? (c) SP3d (d) SP?

1 5 | P TeITE @l B suTsa sremied § IRafE B St £7
(&) v () SR (1) wrew (=) ®1E =1

Which of'the following enzyme converts glucose into ethyl alcohol?
(a) Zymase (b) Diastase (c) Maltase (d) none

10°C 919 9gr+ W fodt Jramafoes wfefsan &1 <= g0 8 5 ¥ 50°C 919 9o ¥ whifen
PT TN AT dgal ¥

(%) 24 om (@) 32 qon (1) 64 7o () 10 UM

The rate of a chemical reaction doubts for every 10°C rise of temperature. If the tempera-
ture is raised by 50°C then rate of reaction increases by about
(a) 24 times (b) 32 times (c) 64 times (d) 10 times

K,[Fe(CN),] & faq amwe—eie 1o (/) &
(®)a (@) s (1) 6 (a) 779 A o =8

Van't Hoff factor (7) for K,[Fe(CN),] is
(a) 4 (b) 5 (c)6 (d) none of these

WIRBIRT 1 BI—T THT SRS B AR Taiften i §7?

(®)ama (@) wren (1) waa (1) e
Which allotrope of phosphorus is thermodynamically most stable?

(a) Red (b) Black (c) White (d) Yellow
wepf H HeR HoIgH g ¥

(&) TEaTmHTT 9o (@) faga- 9

(1) ¥ gt (=) givsvare 9a

Strongest force in nature is
(a) Gravitational force (b) Electromagnetic force
(¢} Nuclear force (d) Vanderwaals force
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127.

128.

129,

130.

131.

T Rived o 9l 9 a1 e g B aweR ¥, 9Raxde @

(B)Hel ol (@) wferst o (71) Reafast st (7) 399 A P18 1A
The workdone by the external forces on a system equals the change in

(a) total energy (b) Kinetic energy (c) Potential energy  (d) None of these
TIAHIFE BT ISIH A1 ARG &

(@) urpes R (@) ¥ yama

(1) Teilel Wi (1) areTs ¥y

Taking off of the aircraft is based on

(a) Pascal's theorem (b) Magnus effect

(¢) Bernoulli's theorem (d) Laplace's theorem

(®)HTe (@) %a (1) urS<H (7) 379 9 o1 18

Speed of fighter aircrafts is expressed in
(a) Knot (b) Mach (c) Poudem (d) None of these

RHATE] B WaeH 4 Sal @ Raww & ..., W EN S 370 GHSI™T TR §

(F) 3 &1 g (@) ¥l 3R &F & YA

(1) W B g (°) W= &1 gA

Distribution of energy in the spectrum of blackbody is best eﬁplained by

(a) Wein's formula (b) Rayleigh and Jean's formula
(c) Stefan's formula (d) Planck's formula

ameret LC wiaet e (LC oscillator) o gt gott

() girem wivférd &t ¥ (@) & 78 el W ¥
(1) w=ferer €1 2 Wl ® (=) wRf3r 2 wepd) ¥

In ideal LC oscillator the total energy

(a) 1salways conserved (b) is never conserved

(c) may not be conserved (d) may be conserved



132.

133.

134.

135,

136.

ERIEEIRCECREITIuE
(@) ufeRieas
(31) SrferaT= (Feqe=q)

Electrical analogue of mass is

(a) resistance (b) capacitance

Faadmem A g
()3 o Reeirfiex/ddvs
(1) 1.5 @ fheiniex/Aave

Speed of light in vacuum is
(a) 3 Lakhkm/s (b) 2 Lakh km/s

o SR B B
(®)Ra goaol @
(1) SRt Seqer 9

Lasers are emitted by
(a) induced emission
(c) stimulated emission

(@) g
(&) wawaan

(c) inductance (d) admittance

(W) 2 o fharicy/dPrs
(®1) 2.5 a9 fheriier/Adve

(c) 1.5 Lakh km/s

(d) 2.5 Lakh km/s

(@) A& Il |
(&) Safsra sraeimor 9

(b) spontaneous emission
(d) stimulated absorption

Weﬁaﬁiﬁﬁmw&ﬁqwﬁaﬁmqﬂwm%

(®) A (=) geaor

(1) faas (9) B aRs Rads

Optical fiber used for communication puposes is based on

(a) reflection (b) polarisation

(c) diffraction (d) total internal reflection

100V g1 w@ia vaee™ & Sarhl a¥r orars ¥

(®)1.22 nm (1) 2.43 nm (7) 5.65nm (a1) s BIg 78

The debroglie wavelength of electron accelerated by 100 Vis

() 1.22nm (b) 2.43 nm

(¢)5.65 nm (d) none of these



137.

138.

139.

140.

141.

142.

1 T W 99 5E ST Sl B GEl S ¥

(@) Hqadd D el (@) diceotie Sl
(1) N w (&) ¥ St
Highest energy filled at absolute zero is called

(a) Maxwell energy (b) Boltzmann energy
(c) Fermienergy (d) Frank energy

qiecy AT § o SR &1 SuanT foear e &
(@) farda =y (amr) (@) st st (ara)
(1) sl As (Mode) (1) ®g " (Mode)

Zener diode for voltage regulation is used in
(a) reverse bias (b) forward bias (c)unbiased mode  (d) any mode

Td § S SoHOId oIl Wbt (a1 ) o1 §e g &
(®)1.9ev (@) 3.1ev (1) 0.52 ev (&) 1.21 ev

LED emitting red light has a band gap of
(a) 1.9ev (b) 3.lev (c)0.52 ev (d)1.21ev

T Ybre1 B I¢ Wa 61 TRIEd 3R (dielectric constant) &
(@) 1.33 (@) 1.77 (1) 2.45 (e1)3.29

The dielectric constant of water for visible light is

(a) 1.33 () 177 (c)2.45 (d)3.29
AISHINDIY B TGS o1 (i «fw) % of ) g v @ forr o fog B
(@ ) aftier fagem (&) MerdR e

(1) fdnferget dema (°) 579 9§ B 98

Objective lens of the microscope has small aperture to keep the image free from
(a) chromatic aberration (b) spherical aberration

(c) Anomalous dispersion (d) none of these

EFUGINS i@ avg Bl WK 9 § 78 39 9w ¥
(®) o g8 (@) =oreEs A
(1) =Y 3R AoTErE g (a) 379 9 BiE =8
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143.

144.

145.

146.

Hypermetropic eye cannot see the object clearly at
(a) large distance (b) small distance
(c) Large and small distances both (d) none of these

U Hifecher BIgaw o1 BR 1.5 3R 1.45 T ¥, Brgay &1 GEews o d
(®)0.45 (@) 0.38 (1) 0.72 (er) 0.85

An optical fibre has the refractive index of core 1.5 and cladding 1.45, the numerical
aperture of the fibre is

(a) 0.45 (b) 0.38 © 0.72 (d) 0.85
STEifHe 6l @ g C, 3R C, o1 srgara ¥
(®) 1.66 (@) 1.4 (1) 1.33 (&) 1.29

Ratio of C; and C, for diatomic gases is
(a) 1.66 (b) 1.4 (c) 1.33 (d)1.29

AT d8 ANE.......... W UT B ST
(®F)2G (@) 3G (W) 4G (") 5G

The maximum band width is obtained in
(@) 2G (b) 3G (c) 4G (d) 5G

% Ui A 25W — 220 V e 3R 100W — 220V 9ed sjren & oS 50 ¥
(%) 25W aea Sa1e] Iqee)
(@) 100W v<9 Sa1e] uHasi

(31) €1 99 FHF UHTEA (incondescence) B
(1) Is woTe w81 S

A25W—220Vbulb and 100W —220 V bulb are connected in series across a 220V line,
then

(a) 25 W bulb will glow more brightly

(b) 100 W bulb will glow more brightly

(c) both bulbs will have equal incondescence

(d) neither will give light
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147.

148.

149.

TH TERT ......... @ forv aa vy @ wu o ol o &

(@) SrRM (@) o

(1) S T T 2 CEREE

A capacitor acts as an infinite resistance for

(a)DC : (b)AC

(c) DC as well as AC (d) Neither AC nor DC

TIZEIo URAIY] ¥ Yeldel™ B ~YAad el BIoi W &t ¥

(w)h (@) 2 (m) 5= () 2

The minimum orbital angular momentum of electron in a hydrogen atom is

h h 3h
(a) h ® 3 © - @ -
foe wgell AR Al A NI YEwpR v Rear?

(@)= (@) AR (1) ¥FeTH (=) ergora

Who for the first time got Nobel prize in Physics?
(a) Newton (b) Einstein (c) Roentgen (d) Heisenberg

150. afs wiergalieed T 3 yaHren o) gy S 1, ) A B e

() <o grft (@) smeh 2nly

(1) St & & Bl (=) TN ¥ arfdr Bl

Ifthe frequency of light in photoelectric experiment is doubled, the stopping potential will
(a) bedoubled (b) be halved

(c) become less than double (d) become more than double

4o
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Date of Exam:-10.09.2020 |Timing:-8:00-10:30 AM Sitting: 1

Q.NoJ Ans. (Q.No. Ans. |Q.No.| Ans. |[QNo.| Ans. |Q.No.| Ans.
1 A 31 C 61 A 91 D 121 A
2 D 32 A 62 c 92 A 122 A
3 D 33 D 63 D 93 c 123 B
4 C 34 A 64 B 94 A 124 B
5 D 335 B 65 A 95 D 125 B
6 B 36 C 66 A 96 B 126 C
7 C 37 D 67 C 97 A 127 A
8 A 38 C 68 A 98 A 128 C
9 C 39 A 69 D 99 b 129 B
10 B 40 D 70 D 100 A 130 D
11 A 41 C 71 D 101 B 131 A
12 C 42 B 72 c 102 A 132 c
13 A 43 C 73 D 103 B 133 A
14 C 44 D 74 c 104 A 134 C
15 D 45 D 75 A 105 A 135 D
16 A 46 C 76 D 106 B 136 D
17 c 47 C 77 C 107 A 137 c
18 D 48 B 78 B 108 A 138 A
19 D 49 C 79 A 109 C 139 A
20 B 50 B 80 B 110 A 140 B
21 c 51 B 81 B 111 jweoneopr.| 14] B
22 A 52 D 82 D 112 B 142 B8
23 B 53 D 83 A 113 C 143 B
24 C 54 C 84 B 114 B 144 B
25 D 55 A 85 A 115 A 145 D
26 A 56 C 86 A 116 A 146 A
27 B 37 D 87 A 117 B 147 A
28 A 58 A 88 c 118 A 148 | ¢
29 A 59 C 39 B 119 B 149 c
30 A 60 B %0 A 120 B 150 D









